Protein sequencing problems
Homework for video (2)
Solutions in video (3)

1. Based on the results provided, figure out as much as you can about the amino acid
sequence of a peptide.

The composition of the peptide is (ile, tyr, ala, trp, arg, gly, lys, val).

Reaction with dansyl chloride gives no products, unless the peptide is first reacted
with trypsin, in which case both dansyl-isoleucine and dansyl-alanine are formed
with the compositions (val, ile, lys, tyr) and (ala, trp, arg, gly).

Reaction with chymotrypsin also produces two peptides, with compositions (tyr,
val, ile, arg) and (trp, lys, ala, gly).
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